Unit O Review- Part 1 NAME
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Perform the indicated operation and reduce your answer, if possible.
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Find the slope of the line crossing through the two points. Slope formula: zz_zl given (x1,y1) & (x5, ¥3)
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Given the equation of the line in slope-intercept form, state the slope. -
/1 4 &gt
13.yE£-1—4 14.y:@x+g 15.y@+34.85
-k
e o= =3 m= 0,0\
Look at the following graphs and determine the slopes of the lines.
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Unit O Review Part 2 NAME

State the solution(s) to the systems of equations graphed below.

P e R
/ 2 § 7

//J (3 )% ]

b IS

1. a3

1)

ekl
o

3

Solve the following systems of equations. Use whichever method you would like, though | will put them in groups

based on which way | recommend you solve them.

Recommended Method: Substitution
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Set up a system of equations for the following word problems and solve using any method.

9. A karate school offers a package of 12 group lessons and 2 private lessons for $110. It also offers a package of 10
group lessons and 3 private lessons for $125. How much does a single group lesson and a single private lesson cost?
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10. A swimming pool is t/wiee’a's/!ong as it is wide. Its perimeter is 150 feet. Find the‘fgngth and width of the pool.
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Solving Linear Inequalities. Graph the solution set on a number line.
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Compound Inequalities. Graph the solution set on a number line.

14 8. 3 —5x <28
-3 -3 -3 L T

5¢ -Sx + 15

s B % o—
¥ = e_,—.——r———r—a
el S
15.0<§C<4_-,_
e
o-—-—"o
Dot vtk L___.T————"——)
o L

16.2x —7>—-130rx+15<5

e o SRS —
2 ? -4 AR g oy
3 X e -1o =3

X723
el =29 o516 —% =2

sl e =ik

% 2-3L o€ e oM o—
5
sl ot Gsrips 3

- -1 -2 -4



